
RKP EZ2 2001K Diamond Plated
RKP EZ2 SS Stainless Steel
Rocker Panels Installation Instructions
EZGO Medalist/TXT 1994-present

BW 707

Parts Included:
(1) Rocker Panel LH
(1) Rocker Panel RH

Hardware Included:
(4) 1/4 X 1 1/4” Bolts
(4) 1/4 -20 Nuts
(4) 1/4” Plastic Nut Insert
(4) Flat Washers
(4) #14 X 1 1/4” Sheet Metal Screws
(4) Spacers

Installation Instructions:

1. Remove existing rocker panels or rubber side bumpers 
from both sides of the cart.

2. Locate preexisting square shaped holes on side of the 
cart.  (See Figure 1)

3. Insert plastic nut insert into square shaped hole on side 
of cart.  (See Figure 2)

4. Align the four holes in the rocker panel with the holes 
on the cart. (See Figure 3, for location of holes)

5. Place spacer between plastic nut insert and inside of 
rocker panel.  Hold in place and insert bolts.  Tighten 
hardware.

6. Place screws through holes on top side of rocker panel.  
7.   Attach nut to bolt by going under the cart.  A nut driver 

tool and Phillips screwdriver are needed to secure tight 
? t.

Figure 1

Figure 2

Figure 3

Copyright© 1997-2010. All Rights Reserved.


